
WALL MOUNTED MATRIX 2.0 - SINGLE CELL

SERIOUS TRAINING

FINAL PRODUCT PAGE ONE



WALL MOUNTED MATRIX 2.0 - SINGLE CELL

SERIOUS TRAINING

COMPONENTS PAGE TWO

M10 Nut 
Quantity x 8

B

C

D

1

A

321 4

B

A

5 6

TITLE:

SCALE:1:20 SHEET 1 OF 1

C

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

DO NOT SCALE DRAWING
SKU1978 Single Cell Freestanding Components

Drawn: Ben Stabb

M10 Washer 
Quantity x 16

B

C

D

1

A

321 4

B

A

5 6

TITLE:

SCALE:1:20 SHEET 1 OF 1

C

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

DO NOT SCALE DRAWING
SKU1978 Single Cell Freestanding Components

Drawn: Ben Stabb

M10x90 Hex bolt 
Quantity x 8

B

C

D

1

A

321 4

B

A

5 6

TITLE:

SCALE:1:20 SHEET 1 OF 1

C

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

DO NOT SCALE DRAWING
SKU1978 Single Cell Freestanding Components

Drawn: Ben Stabb

75mm Dynabolt 
Quantity x 12

B

C

D

1

A

321 4

B

A

5 6

TITLE:

SCALE:1:20 SHEET 1 OF 1

C

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

DO NOT SCALE DRAWING
SKU1978 Single Cell Freestanding Components

Drawn: Ben Stabb

1080 Single Pipe 
Crossbeam 
Quantity x 3

2-Directional Hole Upright 
Quantity x 2

B

C

D

1

A

321 4

B

A

5 6

TITLE:

SCALE:1:20 SHEET 1 OF 1

C

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

DO NOT SCALE DRAWING
SKU1978 Single Cell Freestanding Components

Drawn: Ben Stabb



WALL MOUNTED MATRIX 2.0 - SINGLE CELL

SERIOUS TRAINING

PAGE THREE

Part No. Description QTY
1 2-Directional Hole 

Upright
2

2 1080 Single Pipe 
Crossbeam

3

3 M10 x90mm Hex Bolt 8
4 M10 Hex Nut 8
5 M10 Washer 16

1

1

6

6

2

2

6

3
4

5

ITEM NO. DESCRIPTION QTY.
1 2 Directional Hole Upright 2
2 1080mm Single Pipe Crossbeam 3
3 M10 90mm Bolt 8
4 M10 Washer 16
5 M10 Nut 8
6 75mm Dynabolt 12

B

C

D

1

A

321 4

B

A

5 6

TITLE:

SCALE:1:25 SHEET 1 OF 1

C

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

DO NOT SCALE DRAWING

Drawn: Michael Butler

SKU1366 Wall Mounted Matrix - Single Cell - With Fixings - Exploded

D

Latest Revision Date: 27/08/2013 Latest Revision By: Michael Butler

2

2

1

1

35
4

ASSEMBLY DIRECTIONS



WALL MOUNTED MATRIX 2.0 - SINGLE CELL

SERIOUS TRAINING

ASSEMBLY DIRECTIONS PAGE FOUR

Item # Part QTY
1 2 Directional Hole Upright 2
2 1080mm Single Pipe Crossbeam 3
3 M10 90mm Bolt 8
4 75mm Dynabolt 12
5 M10 Nut 8
6 M10 Washer 16

B

C

D

1

A

321 4

B

A

5 6

TITLE:

SCALE:1:20 SHEET 1 OF 1

C

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

DO NOT SCALE DRAWING

Drawn: Michael Butler

SKU1986 Wall Mounted Matrix 2.0 - Single Cell

D

Latest Revision Date: 27/08/2013 Latest Revision By: Michael Butler


